SOEDFA X =

20034 ABEE

L3

—Z

n| .-

EX

5 &

RPN ||
| Aa—s3

D e A

130 1 F = A= 240 Ovh & EF YR
LA ICF I D)) 250 FHFh—2 270 |[AUIIMFCLED
280 | ZpuisathiF
A0 8L, 260 | F—X &F—vHL— 300 [FEX BT
150 ERINITZR 330 (7O7yH LU
290 [{BHBE/ANL  (lesk-k) 330 | ZAYUE
450 |SFBOX
R IL (T —i) 300 232N —PY—LF—X 250 |BEBY—E—TFvdN—7

AT W (ML XD

AW —LF—X

=P IAY 160 [F—Y{24&)
=T (FA 3680 F— (5{@)
160 E—uwiSu R
F3 &7 yE— 140 HFEEHEEO—N (2{8)
ILFR—Ak NI—O0— L (2 y
HF—Z 150 FEFO—N (248)
L—ZXoo—)L(2{)
170 LU BAIRA 160 |[JEL =3
i TN (HRE—F-BTE)
EET =T, 230 BTN (T A=)
HAlEA ' O—)Lr—3F (FL—)
ENE—A 150 | & Hr/ 54— 9o [B=7—F (EH)
R TIoIvi o 180 |2 h1 /38—l (R1).L) d—jLr—%(aa7F)
Ia7yH 180 |hors—=31/7 LOFAr—H(EDY)
180 (A TILF—X 350 |[hii——a 230 (LU —F (FLE)
BEEHL—/3 250 [L—XTLwk1/2 SOF A —XELRINE)
ShLL—Z 18 450 |[L—XTLwk 300 [F—ZXAJL-
ST T I — 250 |[EhiTLvR1/2 170 |[EAD ABEE
450 [2HTLvE F )t oy e
250 |RARERR/1/2 120 [QoF Ao Ry —HuE—
FIo @SR 450 | RAERE/ LESF— R yd—
190 220 vl a7a—FK1/2 120 |Aa—> (F371) '
390 [Zwi afpn—k 180 [ A= (FV—aETE)
HKebhAIFA 280 |EH/ S 160 |E 2y T4 (a07F)
200 KEEEIFA 200 |B/N 1T 170 [OOSR,
850 B/ 180 JaF e —-FaaSsay
290 TIRF—R PENTSyh—
Fipyi,—Z (N D)
{BAHL—K 350 |PuF—(F7—EURT—RILAY) 180 [Fyws—Z (BEHHD
Hovoopn 280 |Hb—ga5 Fwi—= (i)
230 130 |[FvyHputr— 180 [SAY (C1—E—)
180 |70 190 | SR (H—1v4)
190 |[<who 120 |22 H—S5R5




